AdyeBpa IV

Tplwwvopo

BayyeAnc Wuxag



Tplrwvupo I
¢ fX)=ax*+bx+c abceR a0,

¢ I(x)-a(x‘+zx+£-)-(x‘+zlx+f).

2a a

-a(x’-l-zlx-l- i +5)-
2¢"  4a’ 4a’  a

o (ro ) - e
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Tplwwvopo 11

4

——

_________ — (1+_5_)3_b‘-4ac
- Za 4a*

¢ Awxplvovoa A = b? - 4ac.
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TPLOVUUO (4 = b? - 4ac > 0) (1)
¢ fX)=ax*+bx+e¢ abceR a#0.

-b +VA ~b - A
* =7 * =7

¢ f(x) =alx—p)(x—pz)



TPLWVVNO (4 = »? - 4ac > 0) (II)
¢ fX)=ax*+bx+e¢ abceR a#0.

¢ f(x) =a(x-py)(x~py)

!
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TpLwVVNO (4 = »? - 4ac > 0) (III)

¢ fX)=ax*+bx+e¢ abceR a#0.

-b:‘ VA ¢ Pr= -.;;a ¢ f(x) = alx—pq)(x~p2)

(@ > 0) (@ <0)

$ f)<0e@x€(pnp;) ¢ fX)>0e x€(py,p2)

¢f(1')>09 ¢ fx)<0e
@ x € (=,p4 )V (p2, +2) @ x € (=,p,)V (p3, +)
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TPLWVUNO (4 = »? - 4ac = 0)
¢ f(x)=ax*+bx+¢ abceR a=#0.

-b

4 Pr=p2=p =37

¢ f(x) =a(x-p)*
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TPLWVUNO (4 = »? - 4ac = 0)

¢ fX)=ax*+bx+e¢ abceR a#0.

S m=m=p=gs ® F@x) = alx - p)?
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TPLWVUNO (4 = »? - 4ac = 0)

¢ fX)=ax*+bx+e¢ abceR a#0.
—b

C=p=p=5g ¢ f(x) = a(x - p)?
(@ >0) (@ <0)
¢ f(x)20 VvxeR ¢ f(x) <0 VvxeR
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TPLOVUNO (4 = »? - 4ac < 0)
¢ fX)=ax*+bx+e¢ abceR a#0.

¢z.-b+iﬁ olg-b-iﬁ
1 2a 3 2a

¢ f(x) =a(x—2¢)(x —2;)
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TPLOVUNO (4 = »? - 4ac < 0)

¢ fX)=ax*+bx+¢ abceR a#0.

® 2,=
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TPLOVUNO (4 = »? - 4ac < 0)

¢ fX)=ax*+bx+e¢ abceR a#0.
=b + /=4 -b - iV-4

¢ 24= 3a ¢ 2= 3a ¢ f(x) =a(x—24)(x - 2p)
(@ >0) (@ <0)
¢ f(x)>0 VxeR ¢ f(x)<0 VvxeR
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TPLOVUUO (Vieta)
¢ fX)=ax*+bx+c abceR a0,

—b
¢S-pi+p2 'Ii‘l'tz-T

¢
¢P=pip2=20=2

b ¢
$ xz+Ex+E=0bx3-Sx+P=0
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TOmow Vieta

¢ fX)=ax)* +bx*+cx+d abcdeR a#0.

—-b

" Pi+P2+P3=T

¢
P P2tPL Pt P2 P37

d

4 Pr P2 P3 =7
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